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Run 6025 mpswise, BCM: All Run 6025 mpswise, BCM: Beam OFF
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Run 6025 mpswise, lasPow: All
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Run 6025, mpswise, lasPow: Beam ON, Laser ON
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Run 6025, mpswise, bpmAx: Beam ON, Laser ON
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Run 6025 mpswise, bpmAy: All
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Run 6025, mpswise, bpmAy: Beam ON, Laser ON
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Run 6025 mpswise, bpmBx: All
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Run 6025 mpswise, bpmBy: Beam OFF
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Run 6025 mpswise, beam ON, laser ON
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Run 6025 mpswise, beam OFF, laser ON
:i—l|il||||||”||||||||||||||||||||||||“|||||||||

100 200 300 400 500 600 700 BOO
mpsCoda

«10°

*10

Accl/MNACCD

Accl/NACeD

Run 6025 mpswise, beam ON, laser OFF
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Run 6025 mpswise, beam ON, laser ON Run 6025 mpswise, beam ON, laser OFF
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Cav Power

Run 6025 mpswise, beam ON, laser ON Run 6025 mpswise, beam ON, laser OFF
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Run 6025 mpswise, beam ON, laser ON
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Run 6025 mpswise, beam ON, laser OFF
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Run 6025 mpswise, beam ON, laser ON Run 6025 mpswise, beam ON, laser OFF
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Run 6025 mpswise, beam ON, laser OFF

AT T T TN N T T T TN N T A N T T T A 0 0 A
100 200 300 400 500 600 700 8OO
mpsCoda
Run 6025 mpswise, beam OFF, laser OFF
S ? b o
:I (AN TN T T T T T T T T T T T T T T AN A
100 200 300 400 500 600 700 8OO

mpsCoda

x10"

=10



BPM By

-10

-15

Run 6025 mpswise, beam ON, laser ON

TTI

BPM By

-10

-15

—20

Run 6025 mpswise, beam ON, laser OFF

BPM By

|IIII|IIII|IIII|IIII|IIII|1II

—25

L 1 1 | L 1 11 | L 1 1 1 | 1 1 1 1 | L 1 1 1 | L 1 1 1 I 1 1 1 1 | L 11 1 | 111 a=1 ﬂa 1 11 | L 11 1 | 1 1 1 1 | L 1 11 | 1 11 1 | 1 11 1 | L 11 1 | L 11 1 | I ﬂa
100 200 300 400 500 600 700 BOO 100 200 300 400 500 600 700 BOO
mpsCoda mpsCoda

Run 6025 mpswise, beam OFF, laser ON Run 6025 mpswise, beam OFF, laser OFF

BPM By

TR b i b i

-10

-15

-10

-15

|IIII|IIII|IIII|IIII|III._I-TI.II

I A N T T I T T N N N OO O B A A |} L v o by =10 A N T N T T N T T N T T T T T T IO O A N 3 [ 4
100 200 300 400 500 800 700 800 100 200 300 400 500 800 700 800
mpsCoda mpsCoda




